## MARINA COAST WATER DISTRICT

Regional Urban Water Augmentation Project - Recycled Water Distribution Pipelines CIP RW-0174

BID OPENING: 2 PM, April 27, 2020 LOCATION: 11 RESERVATION ROAD MARINA, CA 93933

BID SUMMARY Bidder 2 Bidder 3 Bidder 4 Bidder 1 Monterey Peninsula SCHEDULE OF BID ITEMS Ranger Pipelines, Inc. Anderson Pacific Mountain Cascade, Inc. Engineering Unit Unit Price Unit Price Unit Price Unit Price Bid Item Description Quantity Amount Amount Amount Amount Mobilization and Demobilization (Shall not exceed 5% of Total of All Unit Price Bid LS \$130,000 \$130,000 \$450,000 \$450,000 \$391,000 \$391,000 \$300,000 \$300,000 1 1 Items) Sheeting, shoring, and bracing, or equivalent method for the protection of life and limb in trenches and open excavation, pursuant to LS \$5,000 \$350,000 \$350,000 \$100,000 \$100,000 \$150,000 \$150,000 2 1 \$5,000 California Labor Code §6707 and Section 02260. \$24,000 3 Stormwater Pollution Prevention LS 1 \$30,000 \$30,000 \$24,000 \$20,000 \$20,000 \$80,000 \$80,000 4 Traffic Management LS 1 \$300,000 \$300,000 \$280,000 \$280,000 \$265,000 \$265,000 \$90,000 \$90,000 Locating and Verifying Concealed existing LS \$50,000 \$50,000 \$130,000 \$200,000 \$200,000 5 1 \$150,000 \$150,000 \$130,000 Utilities per Section 01350

	_												1
6	Blow-off Assemblies	EA	25	\$13,500	\$337,500	\$7,500	\$187,500	\$12,000	\$300,000	\$14,000	\$350,000	\$11,750	\$293,750
7	Combination Air/Vacuum Valves	EA	24	\$6,500	\$156,000	\$5,000	\$120,000	\$9,000	\$216,000	\$7,500	\$180,000	\$7,000	\$168,000
8	8" Isolation Valves (Gate)	EA	17	\$2,800	\$47,600	\$1,350	\$22,950	\$2,500	\$42,500	\$2,200	\$37,400	\$2,213	\$37,613
9	12" Isolation Valves (Gate)	EA	14	\$4,000	\$56,000	\$2,600	\$36,400	\$4,000	\$56,000	\$3,600	\$50,400	\$3,550	\$49,700
10	Beach Road: 8-inch Pipeline (Ductile Iron)	LF	164	\$275	\$45,100	\$225	\$36,900	\$240	\$39,360	\$194	\$31,816	\$234	\$38,294
11	Beach Road: Pressure Reducing Station	LS	1	\$72,000	\$72,000	\$75,000	\$75,000	\$70,000	\$70,000	\$70,000	\$70,000	\$71,750	\$71,750
12	Beach Road: 8-inch Pipeline (PVC)	LF	3,790	\$175	\$663,250	\$270	\$1,023,300	\$150	\$568,500	\$240	\$909,600	\$209	\$791,163
13	Beach Road: Slurry Seal	SY	11,273	\$3.00	\$33,819.00	\$2.90	\$32,691.70	\$2.50	\$28,182.50	\$2.60	\$29,309.80	\$3	\$31,001

Average

Bid

Amount

\$317,750

\$151,250

\$38,500

\$233,750

\$132,500

Unit Price

\$317,750

\$151,250

\$38,500

\$233,750

\$132,500

	BID SUMMARY			Bidder 1		В	idder 2	Bidder 3		Bidder 4		Average	
	SCHEDULE OF BID ITEMS			-	Peninsula eering	Ranger F	Pipelines, Inc.	Anders	on Pacific	Mountain	Cascade, Inc.		Bid
Bid Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
14	Beach Road: Pavement Striping	LS	1	\$7,500	\$7,500	\$9,200	\$9,200	\$9,500	\$9,500	\$18,000	\$18,000	\$11,050	\$11,050
15	Potable Water Pipeline: Beach Road from Del Monte Blvd to De Forest Rd	LF	2,748	\$230	\$632,040	\$240	\$659,520	\$215	\$590,820	\$320	\$879,360	\$251	\$690,435
16	Potable Water Pipeline: Beach Road Blow- off Assemblies	EA	4	\$13,500	\$54,000	\$7,500	\$30,000	\$12,000	\$48,000	\$18,000	\$72,000	\$12,750	\$51,000
17	Potable Water Pipeline: Beach Road Combination Air/Vacuum Valves	EA	4	\$6,000	\$24,000	\$5,000	\$20,000	\$9,000	\$36,000	\$8,500	\$34,000	\$7,125	\$28,500
18	Potable Water Pipeline: Beach Road 12" Isolation Valves (Gate)	EA	5	\$4,500	\$22,500	\$2,600	\$13,000	\$4,000	\$20,000	\$4,000	\$20,000	\$3,775	\$18,875
19	Potable Water Pipeline: From Reservoir 2 to Crescent Ave	LF	518	\$180	\$93,240	\$220	\$113,960	\$150	\$77,700	\$200	\$103,600	\$188	\$97,125
20	Potable Water Pipeline: Reservoir 2 to Crescent Ave Blow-off Assemblies	EA	1	\$12,500	\$12,500	\$7,500	\$7,500	\$12,000	\$12,000	\$9,000	\$9,000	\$10,250	\$10,250
21	Potable Water Pipeline: Reservoir 2 to Crescent Ave Combination Air/Vacuum Valves	EA	1	\$6,500	\$6,500	\$5,000	\$5,000	\$9,000	\$9,000	\$6,000	\$6,000	\$6,625	\$6,625
22	Potable Water Pipeline: Reservoir 2 to Crescent Ave 12" Isolation Valves (Gate)	EA	4	\$4,000	\$16,000	\$2,600	\$10,400	\$4,000	\$16,000	\$4,000	\$16,000	\$3,650	\$14,600
23	Carmel Avenue: 8-inch Pipeline (Ductile Iron)	LF	120	\$272	\$32,640	\$335	\$40,200	\$350	\$42,000	\$350	\$42,000	\$327	\$39,210
24	Carmel Avenue: Pressure Reducing Station	LS	1	\$130,000	\$130,000	\$160,000	\$160,000	\$140,000	\$140,000	\$178,000	\$178,000	\$152,000	\$152,000
25	Carmel Avenue: 8-inch Pipeline (PVC)	LF	2,615	\$215	\$562,225	\$270	\$706,050	\$170	\$444,550	\$278	\$726,970	\$233	\$609,949
26	Carmel Avenue: Slurry Seal	SY	13,753	\$3.00	\$41,259.00	\$2.90	\$39,883.70	\$2.50	\$34,382.50	\$2.60	\$35,757.80	\$3	\$37,821
27	Carmel Avenue: Pavement Striping	LS	1	\$21,000	\$21,000	\$26,695	\$26,695	\$27,000	\$27,000	\$35,000	\$35,000	\$27,424	\$27,424
28	Marina Heights Drive: 16-inch Pipeline (Ductile Iron)	LF	240	\$465	\$111,600	\$650	\$156,000	\$420	\$100,800	\$600	\$144,000	\$534	\$128,100
29	Marina Heights Drive: Pressure Reducing Station	LS	1	\$210,000	\$210,000	\$220,000	\$220,000	\$235,000	\$235,000	\$240,000	\$240,000	\$226,250	\$226,250
30	Marina Heights Drive: Slurry Seal	SY	553	\$5.00	\$2,765.00	\$2.90	\$1,603.70	\$5	\$2,765	\$5.00	\$2,765.00	\$4	\$2,475

	BID SUMMARY			Bidder 1		Bidder 2		Bidder 3		В	idder 4	Average	
	SCHEDULE OF BID ITEMS		Monterey Peninsula Engineering		Ranger Pipelines, Inc.		Anderson Pacific		Mountain Cascade, Inc.		Bid		
Bid Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
31	Marina Heights Drive: Pavement Striping	LS	1	\$1,500	\$1,500	\$225	\$225	\$250	\$250	\$200	\$200	\$544	\$544
32	Abrams Drive & Imjin Parkway: 12-inch Pipeline (DIP)	LF	4,563	\$265	\$1,209,195	\$315	\$1,437,345	\$250	\$1,140,750	\$275	\$1,254,825	\$276	\$1,260,529
33	Abrams Drive North of Imjin Parkway: Slurry Seal	SY	4,469	\$3.00	\$13,407.00	\$2.90	\$12,960.10	\$3	\$13,407	\$2.60	\$11,619.40	\$3	\$12,848
34	Abrams Drive North of Imjin Parkway: Pavement Striping	LS	1	\$4,500	\$4,500	\$3,840	\$3,840	\$4,000	\$4,000	\$5,000	\$5,000	\$4,335	\$4,335
35	Potable Water Pipeline: Imjin Parkway: 12- inch Pipeline	LF	2,768	\$260	\$719,680	\$270	\$747,360	\$260	\$719,680	\$275	\$761,200	\$266	\$736,980
36	Potable Water Pipeline: Imjin Parkway Blow-off Assemblies	EA	3	\$15,000	\$45,000	\$7,500	\$22,500	\$15,000	\$45,000	\$14,000	\$42,000	\$12,875	\$38,625
37	Potable Water Pipeline: Imjin Parkway Combination Air/Vacuum Valves	EA	3	\$7,000	\$21,000	\$5,500	\$16,500	\$9,000	\$27,000	\$6,000	\$18,000	\$6,875	\$20,625
38	Potable Water Pipeline: Imjin Parkway 12- inch Isolation Valves (Gate)	EA	6	\$4,000	\$24,000	\$2,600	\$15,600	\$4,000	\$24,000	\$3,400	\$20,400	\$3,500	\$21,000
39	Pressure Test and Disinfect Existing Pipeline in UCMBEST Property	LF	1	\$32,000	\$32,000	\$20,000	\$20,000	\$25,000	\$25,000	\$15,000	\$15,000	\$23,000	\$23,000
40	Blanco Road: 12-inch Pipeline (PVC)	LF	584	\$195	\$113,880	\$190	\$110,960	\$140	\$81,760	\$140	\$81,760	\$166	\$97,090
41	Allowance for sensitive plant species restoration on Blanco Road	ALW	1	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000
42	Blanco Road: Launching Shaft for Guided Auger Boring Installation	LS	1	\$30,000	\$30,000	\$180,000	\$180,000	\$50,000	\$50,000	\$103,000	\$103,000	\$90,750	\$90,750
43	Blanco Road: Guided Auger Boring Casing Pipeline Installation	LF	418	\$165	\$68,970	\$500	\$209,000	\$650	\$271,700	\$850	\$355,300	\$541	\$226,243
44	Blanco Road: Guided Auger Boring Carrier Pipeline Installation	LF	418	\$570	\$238,260	\$135	\$56,430	\$120	\$50,160	\$160	\$66,880	\$246	\$102,933
45	Reservation Road: Receiving Shaft for Guided Auger Boring Installation	LS	1	\$17,000	\$17,000	\$150,000	\$150,000	\$35,000	\$35,000	\$95,000	\$95,000	\$74,250	\$74,250
46	Reservation Road: 12-inch Pipeline (PVC)	LF	5,163	\$165	\$851,895	\$260	\$1,342,380	\$160	\$826,080	\$275	\$1,419,825	\$215	\$1,110,045
47	Reservation Road: 2-inch Grind and Inlay	SY	8,402	\$20	\$168,040	\$35	\$294,070	\$30	\$252,060	\$35	\$294,070	\$30	\$252,060
48	Reservation Road: Pavement Striping	LS	1	\$15,000.00	\$15,000.00	\$16,600	\$16,600	\$17,000	\$17,000	\$11,000.00	\$11,000.00	\$14,900	\$14,900

	BID SUMMARY			Bide	der 1	В	idder 2	Bi	dder 3	В	idder 4	Ave	erage
	SCHEDULE OF BID ITEMS			Monterey Peninsula Engineering		Ranger Pipelines, Inc.		Anderson Pacific		Mountain Cascade, Inc.		Bid	
Bid Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
49	9th Street: 8-inch Pipeline (Ductile Iron)	LF	78	\$325	\$25,350	\$250	\$19,500	\$325	\$25,350	\$645	\$50,310	\$386	\$30,128
50	9th Street: Pressure Reducing Station	LS	1	\$140,000	\$140,000	\$150,000	\$150,000	\$145,000	\$145,000	\$150,000	\$150,000	\$146,250	\$146,250
51	9th Street: 8-inch Pipeline (PVC)	LF	975	\$190	\$185,250	\$325	\$316,875	\$180	\$175,500	\$271	\$264,225	\$242	\$235,463
52	9th Street: Slurry Seal	SY	3,136	\$3	\$9,408	\$2.90	\$9,094.40	\$3	\$9,408	\$2.30	\$7,212.80	\$3	\$8,781
53	9th Street: Pavement Striping	LS	1	\$2,000	\$2,000	\$480	\$480	\$500	\$500	\$500.00	\$500.00	\$870	\$870
54	Coe Avenue: 8-inch Pipeline (Ductile Iron)	LF	2,043	\$200	\$408,600	\$225	\$459,675	\$170	\$347,310	\$240	\$490,320	\$209	\$426,476
55	Coe Avenue: Pressure Reducing Station	LS	1	\$155,000	\$155,000	\$160,000	\$160,000	\$155,000	\$155,000	\$166,000	\$166,000	\$159,000	\$159,000
56	Coe Avenue: 8-inch Pipeline (PVC)	LF	1,127	\$175	\$197,225	\$250	\$281,750	\$150	\$169,050	\$270	\$304,290	\$211	\$238,079
57	Coe Avenue: Slurry Seal	SY	12,560	\$3	\$37,680	\$2.90	\$36,424	\$2.50	\$31,400	\$2.60	\$32,656.00	\$3	\$34,540
58	Coe Avenue: Pavement Striping	LS	1	\$15,000	\$15,000	\$19,830	\$19,830	\$20,000	\$20,000	\$26,000	\$26,000	\$20,208	\$20,208
59	Patton Parkway Turnout: Pressure Reducing Station	LS	1	\$40,000	\$40,000	\$50,000	\$50,000	\$25,000	\$25,000	\$37,000	\$37,000	\$38,000	\$38,000
60	5th Street Turnout: Pressure Reducing Station	LS	1	\$80,000	\$80,000	\$75,000	\$75,000	\$75,000	\$75,000	\$80,000	\$80,000	\$77,500	\$77,500
61	5th Street Turnout (2): Pressure Reducing Station	LS	1	\$80,000	\$80,000	\$75,000	\$75,000	\$75,000	\$75,000	\$90,000	\$90,000	\$80,000	\$80,000
62	5th Street Turnout (3): Pressure Reducing Station	LS	1	\$80,000	\$80,000	\$75,000	\$75,000	\$75,000	\$75,000	\$80,000	\$80,000	\$77,500	\$77,500
63	Engineer Lane Turnout: Pressure Reducing Station	LS	1	\$80,000	\$80,000	\$75,000	\$75,000	\$75,000	\$75,000	\$85,000	\$85,000	\$78,750	\$78,750
64	General Jim Moore Boulevard (GJMB) Turnout: Pressure Reducing Station	LS	1	\$80,000	\$80,000	\$75,000	\$75,000	\$80,000	\$80,000	\$90,000	\$90,000	\$81,250	\$81,250
65	GJMB Golf Course Turnout: Pressure Reducing Station	LS	1	\$160,000	\$160,000	\$150,000	\$150,000	\$180,000	\$180,000	\$169,000	\$169,000	\$164,750	\$164,750
66	Reimbursement Allowance for City of Marina Encroachment Permit Fee	ALW	1	\$70,000	\$70,000	\$70,000	\$70,000	\$70,000	\$70,000	\$70,000	\$70,000	\$70,000	\$70,000

	BID SUMMARY			Bidder 1		Bidder 2		Bidder 3		Bidder 4		Average	
	SCHEDULE OF BID ITEMS			-	Peninsula eering	Ranger	Pipelines, Inc.	Anders	son Pacific	Mountair	i Cascade, Inc.		Bid
Bid Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
67	Reimbursement Allowance for Monterey County Encroachment Permit Fee	ALW	1	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000	\$20,000
68	Reimbursement Allowance for City of Seaside Encroachment Permit Fee	ALW	1	\$15,000	\$15,000	\$15,000	\$15,000	\$15,000	\$15,000	\$15,000	\$15,000	\$15,000	\$15,000
69	Reimbursement Allowance for Business Licenses from Cities and County	ALW	1	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000
70	Potential Installation of 1-inch Service per Detail W-1	EA	2	\$4,000	\$8,000	\$5,500	\$11,000	\$5,000	\$10,000	\$1,000	\$2,000	\$3,875	\$7,750
71	Potential Installation of 4-inch Service	EA	2	\$9,000	\$18,000	\$7,000	\$14,000	\$12,000	\$24,000	\$6,690	\$13,380	\$8,673	\$17,345
72	Contingency Allowance for Unknown Utility Conflicts	ALW	1	\$50,000	\$50,000	\$50,000	\$50,000	\$50,000	\$50,000	\$50,000	\$50,000	\$50,000	\$50,000
73	All work required to be completed for the project that is not included in the previous bid items	LS	1	\$10,000	\$10,000	\$10	\$10	\$199,998	\$199,998	\$41,000	\$41,000	\$62,752	\$62,752
	Sub-Total, Base Bid:				\$9,590,878		\$11,797,162.60		\$9,752,423.00		\$11,974,951.80		\$10,778,854